BITEBI"

br i’ EIB—-DNCZ %

STANDARD CYLINDER B-DNC SERIES

fF&1S0 155524r 4
ISO 15552 STANDARD

F A

G H | | B
. © | ©
LA e ' i
™ @II ||\@

B-DNC ¢ 32— ¢ 125 2/Head

FF&1S0 15552%r#
1SO 15552 STANDARD

#M1&/SpcrfRS/Code A B E F H
$ 32 45.5 32.5 30 51 18 25
$ 40 51.5 38 35 59 21.5 29.5
$50 64.5 46.5 40 67.5 28 29.5
$63 75.5 56.5 45 70.5 28.5 35.5
¢80 93.5 72 45 83.2 34.7 36
4100 111.5 89 55 87.2 38.2 38.8
$125 134 110 60 106 46 45
n EE.’H‘ lf!ﬁﬁ’;/l{lt Ordering Code
DNC - |50/ - |H|-|S|- N|
‘ WERS/ FERR/
©32-0126 GasketMaterlal L Lo Blank:G thread
=8 TPU magnet N:NPTZF
: Z';"R" SIHRE N:NPT thread
s:With magnet P:PTH#
n B ﬁ/Specification P:PT thread
A {&/Bore (mm) 32 ‘ 40 ‘ 50 l 63 | 80 | 100 [ 125
i &5 iR S8 Fl/Available temperature C -10~250
£% 11T #2/Cushioning travel (mm) 20 ‘ 25 | 30 l 32
& O12/Port size G1/8" ‘ G1/4" | G3/8" | G1/2"

1 <<<<<<<< www.btbjx.com for More Products

BITEBI"

br " ELB—-DNC 2 4]

STANDARD CYLINDER B-DNC SERIES

u ﬁi&ﬂ!/Standard type

n MR/ Double shaft type

www.btbjx.com for More Products >>>>>>>>2



BITEBI" I

Fr i HLB-DNCZ %

STANDARD CYLINDER B-DNC SERIES

br " ELB—-DNC 2 4]

STANDARD CYLINDER B-DNC SERIES

fF&1S0 155524r 4
ISO 15552 STANDARD

FF&1S0 15552%r#
1SO 15552 STANDARD

E |j;] lﬁ?'ﬁlﬁj‘i%%’ﬂ-ﬂ ﬁ)‘i'/lnner structure and material list for main parts &
o F B L AR /Basic specification

32~ 125 A+4778 (Travel)
I 2 3 4 5 6 71 8 9 10 11 12 13 4 11 10 15 8 T & 5 I8 B CHTH (Travel)
NNV, I R
u | N
LSRR 1L I7 N N
H 2-0 [
—
18
q < AN vz 77 =
1| RN U S S S NS 5 - ol Va | S an
| C 00 s = . 0 |
K W
7 (5ide)
_— QL_ \z—mgm: cushioning acml_| e,
ALA‘:,Q ""'f/Basic specification
ﬁ% ‘gﬁ Hjﬁ ﬁ% gﬁ H)‘ﬁ I 352"' ¢t1§5 I A HTE (Travel) X2
No | Name Material No | Name Material R R
+ . rave
EEF B 0 |BE aae
Piston rod Carbon steel Piston Aluminim alloy E . L : g
By 4= [ imZEE u L H
2 | Anti dust seals PU 11 | Biston ring NBR H S0
s | B AEBAES |, @R HRE
Oil bearing Sinterized bronze Magnet Ferrite — % | P —
i 3% 35 e SE% s o S .k |
4 | Front cover Aluminim alloy 13 Wearing ring POM i HZ—Z{ 1190 A I = = i o i P e e e e TP —@}: ]t- &
s |§tHA %4l T NOE - —t P .
Air cushioning screw Brass O-ring for piston and piston rod . M|
$ O H % A8 A
6 O-ring for air cushioning screw NBR 15 I‘\Iutfcrpiston Carbon steel £ 2@23(51&) L_\ Jr—
. &‘}:Fm NBR 16 Jﬁﬁﬁ %gﬁ-:& el ¥ {Adr cushioning sem!__ Q|
Cushioning seals Back cover Aluminium alloy
BEEOR [ TR L W o
8 O-ring for front cover NBR 17 Tie-rod screw Carbon steel W&/S (Bore/Symbol)| A i = < : E i 8 B : i L
9 fﬁ A‘I‘A_ _” 18 E&%ﬁﬂﬂﬁ ; 5 32 120 | 146 | 26 | 94 | 30 | 30 | 18 | 25 | 22 17 | M10x1.25 | M6
uminium allo t ist
e . SOTRISIONIE Carbon steel 40 135 | 165| 30 | 105| 35 | 325|215/ 205 24 | 17 | M12x1.25| Mé
50 143 | 180 | 37 | 106 | 40 41 28 | 295 32 23 M16x1.5 M8
B # B} /Packing and O-Ring List 63 158 | 195 | 37 | 121 | 45 | 405|285 35.5| 32 | 23 | M16x1.5 | M8
. 80 174 46 | 128 | 45 | 51.3 | 34.7| 36 40 26 M20x 1.5 M10
1A B HHE | W&OLE A e WO | EHONE 220 X
Item Rod packing |Cushion packing|End cover O-Ring| Magnetic Ring Piston Piston O-Ring |Cushion O-Ring 100 189 | 240 51 138 | 55 | 52.8| 38.2| 38.8| 40 26 M20x 1.5 M10
HE 125 225 | 291 | 65 | 160 | 60 | 73 | 46 | 45 | 54 | 41 M27 x 2 M12
HE No. 1 2 Z 2 1 2
HE SR A&/ 5 (Bore/Symbol)| M N o P Q R S T U v W X
$32 BEU-1219 | BPP-1622 $32% p2 | $283% $ 1635 B-QZ8-3224 ¢12% ¢ 2 8% 1.5
32 9.5 12 60NG 181855 55 ) 45 328 10 1)z 10 4
¢ 40 BEU-1626 | BPP-2028 $40% $2 | $363% ¢ 2035 B-QZ8-4032 b14% 24| ¢8¥% 1.5
40 9.5 14.6 | G1/4 6 7 75 54 38 10 16 13 4
$50 BEU-2030 | BPP-2533 $50% ¢2 | $p463% 2235 B-QZ8-5042 ¢16% 24| ¢8% 1.5
50 9.5 14.6 | G1/4 | 8.5 4.5 85 64 46.5 | 11.5 20 167 4
$63 BEU-2030 | BPP-2533 $63% d2 | $59% § 4035 B-QZ8-6353 ¢16% ¢24 | ¢$8#% 1.5
63 9.5 18.1 | G3/8 10 2 12 7 56.5 15 20 17 4
¢80 BEU-2535| BPP-3040 ¢80 ¢2 | ¢ 76% 585 B-QZ8-8070 $20% ¢24 | ¢$8¥% 1.5
80 115 | 7 98 [RGB B 2 7 8 93 72 BT 25 22 4
$ 100 BEU-2535| BPP-3040 | ¢$100% ¢2 | $963% ¢ 7735 | B-QZ8-10090 |$20% ¢2.4| $8¥% ¢ 1.5
100 115 | 19.8 |G1/2 | 11.8 4 10 110 89 19.2 25 22 4
$125 BEU-3242 | BPP-4050 | ¢ 1253% $ 3.5 | ¢ 1203% $ 96:%5 |B-QGP ¢ 110:%9.5 | $ 203 ¢ 2.4 | $12% $1.5
125 11-5 18 | G1/2 8 14 i 134 110 | 20.5 32 27 6

3 <<<<<<<< www.btbjx.com for More Products

www.btbjx.com for More Products >>>>>>>>4



B PR CEB-DNCEH sasorsssonn 150 15582t i~ 5IB-DNCZ ¥ BITEBI"

STANDARD CYLINDER B-DNC SERIES ISO 15552 STANDARD ISO 15552 STANDARD STANDARD CYLINDER B-DNC SERIES
B &P F/ Mounting kits
a %%F{*{*/Mounting kits B-DNC-CA -
kT 1T
B-DNC-LB ©_
i XA+ AQ @
[E1E3} XD+
O | |
o : B-DNC-CB
El i (3] [EL:) i : MR
= : O o
c 4 ._[E_-, N I N S | )
SA+ E I
: o o |
GCh
Lt

#I{%/Bore(mm) AB AH AO Cl E H1 SA TR XA XD+ He
32 T 32 6.5 30.5 45 5 142 g2 144
40 10 36 9 37 54 5 161 36 163 4142/Bore(mm) CB cD E3 H2 L MR UB XD
50 10 45 9.5 41.5 64 6 170 45 175 32 26 10 73 20 13 10 45 142
63 10 50 12.5 44 .5 75 6 185 50 190 40 o8 12 63 o5 16 12 52 160
80 12 63 15 56 93 6 210 63 215 50 32 12 71 27 16 12 60 170
100 14.5 i | 7ot 58.5 110 6 220 74 230 63 40 16 83 32 21 16 70 190
125 16.5 90 22 67 131 8 250 90 270 80 50 16 103 36 29 16 a0 210

100 60 20 127 41 27 20 110 230
125 70 25y 148 50 30 25 130 2N
B-DNC-FA. FB
= B-DNC-TC
iz Gl R
+ 1+ 4—OFB
- L8+ :
TS BN XV—1/2 ,
] :r o L8 ‘_.45__
: | f [B @
@ : : : :
! E . (-
EE i i -0.}
1 I 1 9
[ U - ) I 1
= - | i=El=E
W H3 : LLJ L:m] Lg
]
ZF+ @ i @

#I{%/Bore(mm) E2 EB H3 R iE Ve W ZE I 12/Bore(mm) c2 C3 J5 L8 L9 TD TL ™ uw XV
32 50 i 10 32 64 80 16 130 32 7l 86 30 79.9 66.1 12 12 50 65 T
40 hh 9 10 36 72 90 20 145 40 87 105 32 89.4 75.6 16 16 63 e 82.5
50 65 9 12 45 90 110 25 155 50 99 1} by 34 94.4 83.6 16 16 Ti) 95 a0
63 i 9 12 50 100 125 i 170 63 116 136 41 101.9 93.1 20 20 90 105 97.5
80 100 12 16 63 126 154 30 190 80 136 156 44 118.1 103.9 20 20 110 130 110
100 120 14 16 Tt 150 186 a5 205 100 164 189 48 126.2 113.8 25 25 132 145 120
125 140 16 20 90 180 220 45 245 125 192 217 50 55 134.7 25 25 160 175 145

B <<<<<<<< www.btbjx.com for More Products www.btbjx.com for More Products >>>>>>>> 8§



	3
	4
	5

